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�� � θ ������������� sin θ cos θ = 2
5���

5 cos θ + 4 sin θ �������

�� � x � y ������ x2 − xy + 4y2 = 1��� x2 + 4y2 �

��������

�� � a, b � c ����� 1 ������� a, b � c ����
����� loga b, logb c � logc a ������������
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�� ����������� (1,−3)���������� 2x +

y + 1 = 0��������� (5,−3)����������
��
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�� � a, b ��������� x3 − 5x2 + ax + b = 0 ����

1 + 2i���� (a, b) = �

�� � A, B, C, D ��������� AB 	�BC 	�CD 	�

DA 	����� 1 : 2 : 4 : 5����� ABCD ����

�

�� �
����� E1 : 2x + y + z = 4, E2 : x − 2y + 2z = 5��

�� (1, 2, 3) ���� E1, E2 ��������� �

�� � f(t) �� (0, 0) ��� Lt : (3 cos t)x + (5 sin t)y = 15 ��
��� f(t) ����� �

�� ���� a, b, c, d, e, f, 8, 11, 12, 17�����������

a, b, c, d, e, f 
����������	���������
�������� �


� �
��

{1, 2, 2, 3, 3, 3, 4, 4, 4, 4, · · · ,
n � n

︷ ︸︸ ︷
n, n, n, · · · , n, · · · }.

���	 1000 ���� �

�� ��� f(x) = − cos 4x + 10 sin2 x�� f(x) 
�� 0 ≤ x ≤ π
����� �

	� �	��� 1 � 7 ������������������
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